

National Dong Hwa University, 1, Sec. 2, Da Hsueh Rd., Shou-Feng, Hualien, 974, Taiwan General Physics I, Midterm 2 PHYS10400, Class year 100 12-15-2011

SN:_____, Name:____

Solution:

1. The speakers broadcast equally in all directions, so the intensity of sound is

inversely proportional to the square of the distance from its source.

(a)
$$r_{AC} = \sqrt{3.00^2 + 4.00^2 \text{ m}} = 5.00 \text{ m}$$

$$I = \frac{P}{4\pi r^2} = \frac{1.00 \times 10^{-3} \text{W}}{4\pi (5.00 \text{ m})^2} = 3.18 \times 10^{-6} \text{ W/m}^2$$

$$\beta = (10 \text{ dB}) \log \left(\frac{3.18 \times 10^{-6} \text{ W/m}^2}{10^{-12} \text{ W/m}^2} \right)$$
$$\beta = (10 \text{ dB}) 6.50 = 65.0 \text{ dB}$$

(b)
$$r_{BC} = 4.47 \text{ m}$$

$$I = \frac{1.50 \times 10^{-3} \text{ W}}{4\pi (4.47 \text{ m})^2} = 5.97 \times 10^{-6} \text{ W/m}^2 \beta = (10 \text{ dB}) \log \left(\frac{5.97 \times 10^{-6}}{10^{-12}}\right)$$
$$\beta = 67.8 \text{ dB}$$

(c)
$$I = 3.18 \mu \text{W/m}^2 + 5.97 \ \mu \text{W/m}^2$$

$$\beta = (10 \text{ dB}) \log \left(\frac{9.15 \times 10^{-6}}{10^{-12}}\right) = 69.6 \text{ dB}$$

(a)
$$\sum \vec{F} = -2T \sin \theta \hat{j}$$
 where $\theta = \tan^{-1} \left(\frac{y}{L} \right)$

2.

Therefore, for a small displacement

$$\sin \theta \approx \tan \theta = \text{and} \quad \sum \vec{F} = \frac{-2Ty}{L}\hat{j}$$

(b) The total force exerted on the ball is opposite in direction and

proportional to its displacement from equilibrium, so the ball moves with simple harmonic motion. For a spring system,

$$\sum \vec{F} = -k\vec{x}$$
 becomes here $\sum \vec{F} = -\frac{2T}{L}\vec{y}$

Therefore, the effective spring constant is $\frac{2T}{L}$ and $\omega = \sqrt{\frac{k}{m}} = \sqrt{\frac{2T}{mL}}$.

(a) the first of the store inside
(b) the twend is

$$F = -\frac{6}{r^2} - \frac{6}{r^2} \frac{m}{3} \frac{m}{\pi} \frac{r}{r} \frac{\pi}{3} \frac{m}{\pi} \frac{r}{r} \frac{m}{r}$$

$$= -\frac{m}{r^2} - \frac{6}{r^2} \frac{m}{3} \frac{m}{\pi} \frac{r}{r} \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{\pi} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r}$$

$$= -\frac{m}{r} + h = \frac{m}{3} \frac{m}{r} \frac{r}{r} \frac{m}{r} - \frac{m}{r} + \frac{m}{r} \frac{m}$$

(a)
$$\Box_{houp} = \frac{1}{2}mR^2$$
 for houp notates about its diameter
 $\Box_{Rod} = \frac{1}{12}mL^2$, for rod Notates about its center of Mars
in this case, Use parallel therem.
 $\Box rod = \operatorname{Irad. center} + mh_{com}^2$
 $= \frac{1}{12}mL^2 + m(R + \frac{1}{2})^2 = 4.33 mR^2$
 $\therefore \exists = \exists hoop + \exists rod = \frac{1}{2}mR^2 + 4.33mR^2 = 4.8mR^2$
(b) Use the Conservation of energy $\Delta E = 0$
 $\therefore \Delta E_{k} + \Delta E_{l} = 0$
 $\Delta E_{k} + \Delta E_{l} = 0$
 $\Delta E_{k} - K_{l} = \frac{1}{2}I\omega^2 - 0 = \frac{1}{2}I\omega^2$
 $\Delta E_{l} = (2m)g \Delta g$. $\Delta g = \text{Vertial displacement of its}$
initially. gat gat gat
 $find g$ is the same distance R from the notational casis
 $\therefore \Delta g = -2R$
Thus $\frac{1}{2}Iw^2 + 2mg \Delta g = 0$
 $plug in all numbers$ $\Delta = \sqrt{\frac{89}{4.83R}} = \sqrt{\frac{84}{4.83\times0.15}}$

General Physics I Midterm 2 (100-1). Dept. of Physics, NDHU.

4.

5.

 τ_{f} will oppose the torque due to the hanging object:

 $\sum \tau = I\alpha = TR - \tau_f:$ $\tau_f = TR - I\alpha \quad (1)$

Now find T, I and α in given or known terms and substitute into equation (1). $\sum F_y = T - m g = -m a$: (2)

also
$$\Delta y = v_i t + \frac{at^2}{2}$$
, $a = \frac{2y}{t^2}$ (3)
and $\alpha = \frac{a}{R} = \frac{2y}{Rt^2}$: (4)

and

$$I = \frac{1}{2}M\left[R^{2} + \left(\frac{R}{2}\right)^{2}\right] = \frac{5}{8}MR^{2}$$
(5)

Substituting (2), (3), (4), and (5) into (1), we find



$$\tau_f = m\left(g - \frac{2y}{t^2}\right)R - \frac{5}{8}\frac{MR^2(2y)}{Rt^2} = \left[R\left[m\left(g - \frac{2y}{t^2}\right) - \frac{5}{4}\frac{My}{t^2}\right]\right]$$